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ẑ  

(1)  ṕ3.0 Ṗ 
      ṕ Ṗ 
      ṕ Ṗ 
      ṕ ỔỎở( ) Ṗ  
      ṕ ṕ Ṗ Ṗ   

(2)  ṕ1.2 Ṗ 
      ṕ Ṗ   
           

(3)  ṕ1.5 Ṗ 
      ṕ Ṗ 
    ṕ Ṗ   

(4)  ṕ3.4 Ṗ 
      Ễ8  (  12P)  
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Ḱị   ẑ  

     

ṕAṖ 165,817  917  166,735  100.9  

ṕBṖ 114,388  114,388  

 
 

(C)  

 8,917  8,917  

 14,322  14,322  

 28,134  28,134  

ṕA+B+C Ṗ 
331,578  917  332,495  100.4  

( Ṿ) 
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     ṕ Ṗ 

1,585  

1,585  

( )  



  

ṕ1Ṗ  
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 H29ṌH33  12,636  

 Ồỉ
ỔỎở

ể  

 2,149  
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 1,300  
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 H29ṌH30  921,900  

 

 

  

 

 

 

      

 
ệ  

   

  

 288,742  

 

ṕ Ṗ  

 
ṕ ỄỂ ị ể Ṗ 



  

 

  

ṕ2Ṗ  
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 82,774  
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ṕ  10/10 Ṗ 

ₒ  ₓ 

       Ệ  

     Ễ  

 

 4,546  
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ₒ  ₓ 

     ể  

         ể  




